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 1. Which of the following statement is/are correct about the Anglo-mysore Wars ?

 i. Tipu got the help of the dutch against the English.

  ii. Tipu won the Third Anglo-mysore War. 

 iii. lord Wellesley led the English during the fourth Anglo-mysore War.

 iv. Hyder Ali fought against the English during the first and Second Anglo-mysore 
Wars.  

 A) i and ii    B) iii and iv 

 C) Only i   d) None of the above

 2. Which among the following is/are related to Parsi Reform movement ?

 i. Kuka movement.

  ii. ‘Rast Goftar’. 

 iii. Namdhari movement.

 iv. Rahnumai mazdayasnan Sabha.

 A) i and ii B) iii and iv C) iii and i d) ii and iv

 3. Which of the following option gives the correct chronological arrangement of the 
historical events ?

 i. Kallumala agitation.

  ii. formation of Sadhu Jana Paripalana Sangam. 

 iii. Establishment of the Cochin Pulaya maha Sabha.

 iv. Villuvandi yatra.

 A) iv, ii, iii, i B) ii, iii, i, iv C) iii, iv, ii, i d) i, ii, iii, iv

 4. In what way was the Cochin Regulation XII of 1920, a step ahead of similar acts by 
the Tiruvitamkureans before 1920 ?

  Choose the correct option from the following statements.

 i. Granted the right of maintenance.

 ii. Prohibited polygamy.

 iii. legalised individual partition of Taravad.

 iv. Recognised Sambandham as a legal marriage.

 A) i, iii, iv B) ii, iv, iii C) Only iv d) Only ii



 60/25 – M

a -3- 

 1. BUSYæL&RRoyP¡ pOÈ°Rt¨Or]ÞÿV fLRu krpOÐ NkñLvjWt]¤ JfLeV wq] ?

 i. CUYæ}xOWL¡R¨f]Rq a]ÕOv]jV cÞÿOWLqORa yzLpU sn]ÞÿO.

  ii. oPÐLU BUSYæL&RRoyP¡ pOÈ¾]¤ a]ÕO v]^p]ÞÿO. 

 iii. jLsLU BUSYæL&RRoyP¡ pOÈ¾]¤ Rvsæyæ] NknO CUYæ}xOWLRq jp]ÞÿO.

 iv. KÐOU qºOU BUSYæL&RRoyP¡ pOÈ°t]¤ RRzh¡ As] CUYæ}xOWL¡R¨f]Rq 
SkLqLa].  

 A) i and ii    B) iii and iv 

 C) Only i   d) oOWt]¤ krîv KÐOosæ

 2. fLRu krpOÐvp]¤ JfLeV kLuVy] jv}Wqe NkòLjvOoLp] mÌRÕŸfV ?

 i. WO¨ NkòLjU.

  ii. ‘rLðV SYLlÅ¡’. 

 iii. jLUiLq] NkòLjU.

 iv. rzVjOoLp] oyVhpyÔ¢ yn.

 A) i and ii B) iii and iv C) iii and i d) ii and iv

 3. Cj]ÕrpOÐ KLkVxjOWt]¤ JfLeV Þq]Nf yUnv°tORa wq]pLp WLsNWo NWo}WqeU 
j¤WOÐfV ?

 i. WsæOoLs yoqU.

  ii. yLiO^jkq]kLsj yUZ¾]R£ qPk}WqeU. 

 iii. RWLÞÿ]¢ kOsp ozLynpORa qPk}WqeU.

 iv. v]sæOvº] pLNf.

 A) iv, ii, iii, i B) ii, iii, i, iv C) iii, iv, ii, i d) i, ii, iii, iv

 4. I°RjpLp]qOÐO 1920&Rs RWLÞÿ]¢ RrYOSsx¢ XII, 1920&jV oOÒV f]qPv]fLU  
WPrOWL¡ ja¾]p yoLj NkvQ¾]WSt¨L¥ KqOka] oOÐ]¤ ? 

  fLRu krpOÐ NkñLvjWt]¤ j]ÐV wq]pLp KLkVx¢ f]qRîaO¨OW.

 i. ^}vjLUw¾]jOç AvWLwU AjOvh]ÞÿO.

 ii. mzOnLq|f~U j]SqLi]ÞÿO.

 iii. frvLa]R£ v|©]Yf v]n^jU j]po v]SipoL¨].

 iv. j]pokqoLp v]vLzoLp] yUmÌR¾ AUY}Wq]ÞÿO.

 A) i, iii, iv B) ii, iv, iii C) Only iv d) Only ii
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5. Identify the false statement/statements among the following.

i. Ho Chi minh established the democratic Republic of Vietnam.

ii. Ngo dinh diem was the dictator of South Vietnam.

iii. Vietnam war was a great success for the uS.

iv. In 1954, french rule in Vietnam came to an end.

A) ii   B) iv 

C) iii   d) All of the above

6.  In the following table, Section A shows the name of the astronauts and Section B 
shows the number of days they spent in space. Which one is the correct option ? 

Section A Section B

i.

ii.

iii.

iv.

frank Rubio

  Barry Wilmore

   Sunita Williams

   Peggy Whitson

400 days

450 days

650 days

675 days

A) iii  B) iv C) ii d) i

7. With reference to Kerala, consider the following statements.

a. manjeswaram is the northern most river. 

b. Kabani, Bhavani and Pamba are east flowing rivers.

 Which of the statements given above are correct ?

A) Statement a is incorrect and Statement b is correct

B) Both Statements are correct

C) Statement a is correct and Statement b is incorrect

d) Both Statements are incorrect

8. On which of the following dates did the equinox occur ?

A) June 21 and december 23  

B) march 21 and September 23

C) march 21 and July 23 

d) June 21 and September 23
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5. fLRu krpOÐvp]¤ RfãLp NkñLvj/NkñLvjW¥ f]q]Þÿr]pOW.

i. SzL Þ] o]¢ RcSoLNWLã]WV r]Õmæ]WV KLlV v]pãVjLU òLk]ÞÿO.

ii. hƒ]e v]pãVjLo]R£ JWLi]kf]pLp]qOÐO I¢SYL h]¢ RRcU.

iii. v]pãVjLU pOÈU pOIy]jV vs]p v]^poLp]qOÐO.

iv. 1954&¤ v]pãVjLo]Rs NlµV nqeU AvyLj]ÞÿO.

A) ii   B) iv 

C) iii   d) oOWt]¤ krîvRpsæLU

6.  fLRu RWLaO¾]q]¨OÐ kŸ]Wp]¤ mz]qLWLwpLNf]WqORa SkqOW¥ v]nLYU A p]sOU  
Av¡ mz]qLWLw¾V RÞsvu]Þÿ h]vy°tORa I¹U v]nLYU B p]sOU WLe]Þÿ]q]¨OÐO. 
wq]pLp KLkVx¢ JfLeV ?

v]nLYU a v]nLYU B

i.

ii.

iii.

iv.

NlLËV rPm]SpL

mLq] v]¤SoL¡

yOj]f v]s|UyV

Rk«] v]ãVy¦

400 h]vyU

450 h]vyU

650 h]vyU

675 h]vyU

A) iii  B) iv C) ii d) i

7. SWqtR¾ yUmÌ]Þÿ]aS¾LtU Cj]ÕrpOÐ NkñLvjW¥ kq]Ye]¨OW.

a. oSµw~qU vaS¨ Aã¾Oç jh]pLeV. 

b. Wmj], nvLj], kÒ IÐ]v W]uS¨LŸV KuOWOÐ jh]WtLeV.

 oOWt]¤ j¤W]p]q]¨OÐ NkñLvjWt]¤ JfLeV wq] ?

A) NkñLvj a RfãLeV NkñLvj b wq]pLeV

B) qºV NkñLvjWtOU wq]pLeV

C) NkñLvj a wq]pLeV NkñLvj b RfãLeV

d) qºV NkñLvjWtOU RfãLeV

8. fLRu krpOÐ f}pf]Wt]¤ JRfLR¨ h]vy°t]sLeV v]xOvU (yoqLNfh]jU)  
yUnv]¨OÐfV ?

A) ^P¦ 21 DU c]yUm¡ 23 DU 

B) oL¡ÞÿV 21 DU RykVãUm¡ 23 DU

C) oL¡ÞÿV 21 DU ^PRRs 23 DU

d) ^P¦ 21 DU RykVãUm¡ 23 DU
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9. Which of the following statement is correct ?

A) Spring tides occur during new moon and full moon.

B) Neap tides occur during new moon and full moon.

C) during spring tide earth, moon and sun is in quadrature position.

d)  Number of days in a lunar month is 31.

10. Which of the following remote sensing satellites is correctly paired ? 

A) SPOT – Germany

B) GeoEye – france

C) Envisat – India

d) landsat – uSA

11. Identify the correct pair from the following.

A) Bhabar – Narrow zone at the foot of Himalaya characterized by rocky and boulder  
terrain   

B) Terai – Composed of older alluvium and largest part of the plain

C) Bhangar – marshy plain located on South of the Bhabar

d) Khadar – Older alluvium deposit and is not fertile 

12. The theme for ‘‘World Water day 2025’’ 

A) Ocean Preservation   B) River Preservation 

C) Glacier Preservation   d) Wetland Preservation

13. Which strategy emphasised investment in heavy industry to achieve rapid 
industrialisation in India during the Second five-year Plan ?

A) mahalanobis Strategy  B) Harrod-domar Strategy 

C) Garibi Hatao Strategy  d) Rolling Plan Strategy

14. A set of free-market economic policy reforms imposed on India by the World Bank 
and the Imf as a condition for a loan in 1991 is called

A) Investment Project financing (IPf) 

B) Structural Adjustment Programs (SAPs)

C) Special drawing Rights (SdRs)

d) Rapid financing Instrument (RfI)
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9. fLRu krpOÐ NkñLvjWt]¤ JfLeV wq] ?

A) AoLvLy]p]sOU kT¡¹o]p]sOU vyÍWLs Svs]Spã°¥ yUnv]¨OÐO.

B) AoLvLy]p]sOU kT¡¹o]p]sOU j}kV Svs]Spã°¥ yUnv]¨OÐO.

C) vyÍWLs Svs]Spã yop¾V nPo], ÞNÎ¢, yPq|¢ IÐ]v ÞfO¡nO^ òLj¾Lp]  
q]¨OU.

d)  KqO ÞLNÎ oLy¾]Rs h]vy°tORa I¹U 31 BeV.

10. fLRu krpOÐvp]¤ JfLeV r]SoLŸV Ry¢y]UYV DkNYz°¥ wq]pLp] S^La]pL¨]
p]q]¨OÐfV ? 

A) Sy×LŸV – ^¡Új]

B) ^]SpLRI – NlL¢yV

C) I¢v]yLãV – CÍ|

d) sL¢cVyLãV – pOIyVI

11. fLRu krpOÐvp]¤ j]ÐV wq]pLp S^Lc] f]q]Þÿr]pOW.

A) nLm¡ – z]oLsp¾]R£ Aa]vLq¾Oç CaO°]p SoXs, kLrR¨ŸOWtOU 
Þq¤¨sæOWtOU j]rî nPNkWQf]   

B) RarLp] – kup AsPv]pvOU yofs¾]R£ JãvOU vs]p nLYvOU SÞ¡ÐfLeV

C) nUY¡ – nLmr]R£ Rf¨V nLY¾Lp] ò]f] RÞáOÐ ÞfOÕOj]sU

d) XLh¡ – kup AsPv]pU j]SƒkoLeV, lsnPp]xVbvOosæ

12.  “2025&Rs SsLW ^sh]j’’¾]R£ NkSopU IÍLeV ? 

A) yoONh yUqƒeU  B) jh] yUqƒeU

C) z]oLj] yUqƒeU  d) f¹}¡¾a yUqƒeU

13. nLqf¾]¤ qºLU kµvÃq kÈf] yop¾V NhOfYf]p]sOç v|vyLpv¤¨qeU 
SjaL¢ v¢W]a v|vyLp°t]¤ Dç j]Sƒk¾]jV NkLiLj|U j¤W] jaÕL¨]p fNÍU 
JfLeV ?

A) ozLsSjLm]yV fNÍU  B) zLSqLcV&ScLoL¡ fNÍU

C) Yq}m] zŸLSvL fNÍU d) SrLs]UYV kæL¢ fNÍU

14. 1991&¤ CÍ|àV vLp× j¤WLjLp] SsLW mLËOU RIIUIlOU yUpO©oLp] 
J¡RÕaO¾]p y~fNÍ v]ke] yLÒ¾]W jpkq]ëLq°tORa j]mÌj __________
IÐV Ar]pRÕaOÐO.

A) j]Sƒk SNkL^WVãV l]jL¢y]UYV (IPf) 

B) ZajLkqoLp NWo}Wqe kq]kLa]W¥ (SAPs)

C) NkSf|W SNcLp]°V AvWLw°¥ (SdRs)

d) NhOf l]jL¢y]UYV DkWqeU (RfI)
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15. Among the following, which was not a major policy initiative undertaken as part of 
the new economic reforms in India ?

A) fiscal and monetary sector reforms

B) Industrial policy reforms

C) Rationalisation of exchange rate policy

d) Introduction of Goods and Service Tax

16. IAAP, IAdP and HyVP are the major initiatives taken as part of which programme 
in India ?

A) New Economic Policy  B) Green Revolution

C) demonetisation   d) NITI Aayog

17. What are the long-term objectives of the Indian five-year Plans ?

A) Agricultural and Industrial Production 

B) Control Inflation and Maintain Price Stability

C) High Rate of Growth, Social Justice and Self-Reliance

d) Balance Budget and maintain fiscal discipline

18. What was the main theme of the Ninth meeting of the Governing Council of NITI 
Aayog, held on 27th July 2024 ?

A) Skilling, mSmEs and Women Empowerment

B) Establishing Cooperative federalism

C) Emerging from the COVId-19 Pandemic

d) Viksit Bharat @ 2047

19. Who is responsible for appointing the Inter-State Council in India ?

A) The President of India  B) The Prime minister

C) The union Cabinet   d)  The Chief Justice of India

20. Which Constitutional Amendment of the Constitution of India restricted the size of 
the Council of ministers to 15% of the total strength of the lok Sabha or the State 
legislative Assembly ?

A) 73 Amendment   B) 86 Amendment

C) 61 Amendment   d) 91 Amendment
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15. fLRu krpOÐvp]¤ CÍ|p]¤ jaÕL¨]p kO¾¢ yLÒ¾]W kq]xV¨Lq°tORa 
nLYoLp] JRãaO¾ NkiLj jpNkv¡¾j°t]¤ JfV D¥RÕaOÐ]sæ ?

A) ijWLq|vOU jLep qUYvOoLp] mÌRÕŸ kq]xV¨Lq°¥

B) v|vyLp jp kq]xV¨Lq°¥

C) v]j]op j]q¨V j]¡epU pO©] yz^oL¨]

d) YOcVyV B¢cV y¡vÿ}yV aLWõV (GST) jaÕL¨]pfV

16. IAAP, IAdP, HyVP IÐ]v CÍ|p]Rs JfV kq]kLa]pORa nLYoLp] jaÕL¨]p 
NkiLj Nkv¡¾j°tLeV ?

A) kOf]p yLÒ¾]W jpU B) zq]f v]kævU

C) SjLŸV j]SqLijU   d) j}f] BSpLYV

17. CÍ|pORa kµvÃq kÈf] jp°tORa h}¡ZWLs sƒ|°¥ IRÍLR¨pLeV ?

A) WQx]pOU v|LvyLp]W DfVkLhjvOU 

B) v]s¨pãU j]pNÍ]¨OWpOU v]sò]qf j]sj]¡¾OWpOU RÞáOW

C) Dp¡Ð vt¡ÞÿL j]q¨V, yLoPz| j}f], y~pUkq|LkÅf (y~Lèpf~U)

d) m^ãV yÍOs]foL¨OWpOU ijWLq| y]ðU j]sj]¡¾OWpOU RÞáOW

18. 2024 ^PRRs 27&jV yUZa]¨RÕŸ j}f] ASpLYV Yv¡e]°V WT¦y]s]R£ KÒfLU  
SpLY¾]R£ NkiLj v]xpU IÍLp]qOÐO ?

A) RoÞÿRÕŸ RRjkOe|U, IU. IyV. IU. C.W¥, Nñ}wL©}WqeU

B) yzWqe Rlcrs]yU òLk]¨¤

C) SWLv]cV-19 ozLoLq]p]¤ j]ÐV oO©] Sja¤

d) v]Wõ]fV nLqfV @ 2047

19. CÍ|p]¤ C£¡&SðãV WT¦y]s]Rj j]po]¨OÐf]jOç D¾qvLh]¾U B¡¨LeV ?

A) CÍ|¢ qLNìkf]   B) NkiLjoNÍ]

C) SWNÎoNÍ] yn  d) CÍ|pORa Þ}lV ^ð]yV

20. CÍ|¢ nqeZajpORa JfV nqeZajL SnhYf]pLeV oNÍ]ynpORa vsOÕU 
SsLWVynpORaSpL yUòLj j]poynpORaSpL RoL¾U AUYyUX|pORa 15% Bp] 
kq]o]fRÕaO¾]pfV ?

A) 73&LU SnhYf]  B) 86&LU SnhYf]

C) 61&LU SnhYf]  d) 91&LU SnhYf]
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21. Consider the following provisions applicable when the office of the President of India 
falls vacant.

1. The Vice President assumes the responsibilities and functions of the 
President.

2. If the offices of both the President and the Vice President fall vacant, the Chief 
Justice of India discharges the duties of the President. 

3. In the absence of Chief Justice of India, the senior most judge of the Supreme 
Court available acts as President until a new President is elected. 

4. Parliament enacted the President (discharge of function) Act, 1969 to address 
such vacancies.

           Which of the statements given above is/are correct ?

A) 1, 2 and 3   

B) 1, 2 and 4 

C) 1, 3 and 4   

d) All the above are correct

22. Consider the following statements regarding the duties of the Attorney General of 
India.

1. Advises the Government of India on legal matters referred to the Attorney General 
of India.

2. Attorney General has the right to audience in all courts in the territory of India.

3. The Attorney General has the right to speak in the proceedings of both the lok Sabha 
and the Rajya Sabha.

4. The Attorney General has the right to vote in both Houses of Parliament.

           Which of the statements given above is/are correct ?

A) 1, 2 and 3   

B) 1, 2 and 4 

C) 1, 3 and 4   

d) All the above are correct

23. In which year was the Central Vigilance Commission established by the Government 
of India ? 

A) 1961 B) 1964 C) 1967 d) 1971
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21. CÍ|¢ qLNìkf]pORa KLl}yV Ku]îO W]a¨OSÒL¥ mLiWoLp v|vòW¥ 
 kq]Ye]¨OW.

1. qLNìkf]pORa D¾qvLh]¾°tOU Nkv¡¾j°tOU DkqLNìkf] JRãaO¨OÐO.

2. qLNìkf]pORapOU DkqLNìkf]pORapOU KLl}yOW¥ Ku]îO W]a¨OWpL  
ReË]¤, CÍ|pORa Þ}lV ^ð]yV qLNìkf]pORa ÞOofsW¥ j]¡vÿz]¨OÐO. 

3. CÍ|¢ Þ}lV ̂ ð]y]R£ AnLv¾]¤, yONk}U SWLaf]p]Rs JãvOU oOf]¡Ð ̂ cV^] 
kOf]p qLNìkf]Rp f]qRîaO¨OÐfOvRq qLNìkf]pLp] Nkv¡¾]¨OÐO. 

4. A¾qU Ku]vOW¥ kq]zq]¨OÐf]jLp] kL¡sRo£V 1969&Rs Nky]c£V (i¡Ú 
j]¡vÿzeU) j]poU kLyL¨]. 

  oOWt]¤ j¤W]p]q]¨OÐ NkñLvjWt]¤ JfLeV/JRfLR¨pLeV wq] ?

A) 1, 2 and 3   

B) 1, 2 and 4 

C) 1, 3 and 4  

d) oOWt]¤ j¤W]p]q]¨OÐ IsæL NkñLvjWtOU wq]pLeV

22. CÍ|pORa ASãL¡e] ̂ jrs]R£ ÞOofsWRt yUmÌ]ÞÿV fLRu krpOÐ NkñLvjW¥ 
kq]Ye]¨OW.

1. CÍ|pORa ASãL¡e] ^jrs]jV rl¡ RÞáOÐ j]pokqoLp WLq|°t]¤ CÍ|L 
y¡¨Lq]Rj DkShw]¨OÐO. 

2. ASãL¡e] ^jrs]jV CÍ|p]Rs IsæL SWLaf]Wt]sOU SNkƒWjLp] I¾L¢ 
AvWLwoOºV.

3. SsLWVynpORapOU qL^|ynpORapOU jaka]Wt]¤ yUyLq]¨L¢ ASãL¡e] ^jrs]jV 
AvWLwoOºV.

4. kL¡sRo£]R£ CqOynWt]sOU SvLŸV RÞáL¢ ASãL¡e] ^jrs]jV AvWLwoOºV.

  oOWt]¤ j¤W]p]q]¨OÐ NkñLvjWt]¤ JfLeV/JRfLR¨pLeV wq] ?

A) 1, 2 and 3   

B) 1, 2 and 4 

C) 1, 3 and 4   

d) oOWt]¤ j¤W]p]q]¨OÐ IsæL NkñLvjWtOU wq]pLeV

23. CÍ|L Yv¦Ro£V Ry¢Na¤ v]^]s¢yV WÚ}x¢ òLk]Þÿ v¡xU ?

A) 1961 B) 1964 C) 1967 d) 1971
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24. Which session of the Indian Parliament usually takes place between July and 
September ?

A) Budget Session   B) monsoon Session

C) Winter Session   d) Joint Session

25. Who is the author of the famous book, ‘‘founding mothers of the Indian Republic : 
Gender Politics of the framing of the Constitution’’ ? 

A) Rajni Kothari B) Paul R. Brass C) Achyut Chetan d) Arun Shourie

26. Consider the following statements regarding Prime Minister’s Office (PMO).

1. Prime minister’s Office is a line agency.

2. PmO came into existence in 1947.

3. It was called the Prime minister’s Secretariat (PmS) until June 1977.

4. Prime Minister’s Office assists the Prime Minister in his overall responsibilities as 
Head of the Government.

 Which of the statements given above is/are correct ?

A) 1, 2 and 3   B) 2, 3 and 4
C) 1, 3 and 4   d) All the above are correct

27. Which among the following principles of natural justice are emphasized in the context 
of e-governance ?

I. Encouraging unilateral administrative decisions to streamline governance.

II. Strengthening transparency and accountability in government processes.

III. Enhancing responsiveness and participation to ensure equitable governance.

IV. Limiting grievance mechanisms to improve decision-making efficiency.
A) Only II   B) Only II and III 
C) Only IV   d) All the above (I, II, III and IV) 

28. Which of the following socio-demographic trends is/are most likely to increase the 
overall vulnerability of human population to various risks and hazards ?

I. Rapid urbanization

II. Enhanced disaster awareness and preparedness

III. decentralized governance systems

IV. Population growth

A) Only I and IV   B) Only I 

C) Only I and III   d) Only IV
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24. CÍ|¢ kL¡sRo£]R£ JfV ySÚtjoLeV yLiLqepLp] ^PRRs oOf¤ RykVãUm¡ 
vRq ja¨OÐfV ?

A) m^ãV ySÚtjU   B) o¦yP¦ ySÚtjU

C) w}fWLs ySÚtjU   d) yUpO© ySÚtjU

25. ""lTº]UYV oShuVyV KLlV h] CÍ|¢ r]Õmæ]WV : R^¢c¡ RkLt]ã]WõV KLlV h] SNlo]UYV KLlV 
h] SWL¦ð]ã|Px¢'' IÐ Nkwñ kOñW¾]R£ qÞp]fLvV BqLeV ?

A) q^j] SWL¾Lq] B) SkL¥ R NmLyV C) AÞ|OfV SÞf¢ d) AqO¦ xTq]

26. NkiLjoNÍ]pORa KLl}yV (PmO) yUmÌ]ÞÿV fLRu krpOÐ NkñLvjW¥ 
 kq]Ye]¨OW.

1. NkiLjoNÍ]pORa KLl}yV KqO RRs¢ J^¢y]pLeV.

2. 1947-¤ PmO j]sv]¤ vÐO.

3. 1977 ^P¦ vRq CfV NkiLjoNÍ]pORa RyNWSŸr]pãV (PmS) IÐr]pRÕŸ]qOÐO.

4. Yv¦Ro£V fsv¢ IÐ j]sp]¤ NkiLjoNÍ]pORa RoL¾¾]sOç  
D¾qvLh]¾°t]¤ NkiLjoNÍ]pORa KLl}yV yzLp]¨OÐO.

 oOWt]¤ j¤W]p]q]¨OÐ NkñLvjWt]¤ JfLeV/JRfLR¨pLeV wq] ?

A) 1, 2 and 3   B) 2, 3 and 4

C) 1, 3 and 4   d) oOWt]¤ krîvRpsæLU wq]pLeV

27. C&YSve¢y]R£ kéL¾s¾]¤ fLRu krpOÐ y~LnLv]W j}f]pORa JRfLR¨ 
ff~°¥¨LeV DTÐ¤ j¤WOÐfV ?

I. nqeU WLq|ƒooL¨OÐf]jV JWkƒ}poLp nqekqoLp f}qOoLj°¥ SNkLÃLz] 
Õ]̈ ¤.

II. y¡¨L¡ NkNW]pWt]¤ yOfLq|fpOU D¾qvLh]¾vOU w©]RÕaO¾¤. 

III. fOs|oLp nqeU DrÕL¨OÐf]jV Nkf]WqeSwx]pOU kËLt]¾vOU v¡È]Õ]¨¤. 

IV. f}qOoLjRoaO¨¤ WLq|ƒofRoÞÿRÕaO¾OÐf]jV kqLf] yUv]iLj°¥   
kq]o]fRÕaO¾¤.   

A) Only II   B) Only II and III 

C) Only IV   d) All the above (I, II, III and IV) 

28. fLRu krpOÐvp]¤ JfLeV v]v]i AkWayLi|fWt]Ss¨OU AkWa°t]Ss¨OU 
ojOx| ̂ jyUX|pORa RoL¾¾]sOç hO¡msf v¡È]Õ]¨L¢ JãvOU yLi|fpOç 
yLoPz]W&^jyUX|L NkvefW¥ ?

I. NhOf jYqv¤¨qeU 

II. RoÞÿRÕŸ hOqÍ AvSmLivOU fáLRraOÕOU 

III. v]SWNÎ}WQf nqe yUv]iLj°¥ 

IV. ^jyUX|L vt¡Þÿ 

A) Only I and IV   B) Only I 

C) Only I and III   d) Only IV
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29. The formulation of which Act is mentioned as providing the initial impetus for the 

concept of state-provided employment as a legal right ?

I. The National Rural Employment Guarantee Act.

II. The Public Works Programme Act.

III. The maharashtra Employment Guarantee Act.

IV. The food for Work Programme Act.

A) Only I and IV   B) Only I and II 

C) Only I   d) Only III

30.  Which among the following is the primary purpose of Article 142 of the Indian     

Constitution ?

I. To limit the Supreme Court’s power to cases explicitly defined by existing statutes.

II. To empower the Supreme Court to ensure complete justice even when statutory 
laws are insufficient.

III. To allow the legislature to overrule orders passed by the Supreme Court in 
matters of justice.

IV. To provide a mechanism for the Supreme Court to act solely within its executive 
and legislative roles.

A) Only I and II   B) Only I and IV 

C) Only II   d) All the above (I, II, III and IV)

31. under the Reverse mortgage Scheme, what do senior citizen homeowners mortgage 
to financial institutions ?

I. Their savings accounts

II. Their movable assets

III. Their property

IV. Their future income

A) Only III B) Only I C) Only I and III d) All the above
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29. j]pokqoLp AvWLwRoÐ j]sp]¤ y¡¨L¡ j¤WOÐ RfLu]¤ IÐ Bwp¾]jV 
NkLqUn SNkqe j¤WOÐfLp] JfV j]po¾]R£ qPk}WqeU kqLo¡w]Þÿ]q]¨OÐO ?

I. Shw}p NYLo}e RfLu]sOrÕV j]poU. 

II. RkLfOoqLo¾V SNkLNYLU BW›V. 

III. ozLqLNì RfLu]sOrÕV j]poU.

IV. lOcV SlL¡ v¡¨V SNkLNYLU BW›V.

A) Only I and IV   B) Only I and II 

C) Only I   d) Only III

30. CÍ|¢ nqeZajpORa B¡Ÿ]¨]¥ 142R£ NkLgo]W sƒ|U fLRu krpOÐvp]¤  
JfLeV ?

I. j]sv]sOç ÞŸ°¥ v|©oLp] j]¡vÿÞ]Þÿ]q]¨OÐ SWyOWt]¤ yONk}U SWLaf]pORa 
Ai]WLqU kq]o]fRÕaO¾OW.

II. ðLã|PŸr] j]po°¥ Akq|LkÅoLWOSÒL¥ SkLsOU yÒP¡¹ j}f] DrÕL¨L¢ yONk}U 
SWLaf]Rp Ai]WLqRÕaO¾OW.  

III. j}f]pORa WLq|°t]¤ yONk}U SWLaf] kLyL¨]p D¾qvOW¥ or]Wa¨L¢ 
 j]poynRp AjOvh]¨OW.

IV. yONk}U SWLaf]¨V Af]R£ IWõ]W|PŸ}vV, Rs^]Syæã}vV SrLtOW¥¨Oç]¤ oLNfU 
Nkv¡¾]¨L¢ KqO yUv]iLjU j¤WOW.

A) Only I and II   B) Only I and IV 

C) Only II   d) All the above (I, II, III and IV)

31. r]SvuõV SoL¡ŸVSY V̂ Ø}o]jV W}u]¤, oOf]¡Ð kTqÓLqLp v}ŸOaoò¡ ijWLq|òLkj°t]¤ 
IÍLeV kepU vàOÐfV ?

I. AvqORa Syv]UYõV A¨TºOW¥ 

II. AvqORa ^UYo Bñ]W¥ 

III. AvqORa y~¾V 

IV. AvqORa nLv] vqOoLjU 

A) Only III B) Only I C) Only I and III d) All the above
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32. Which of the following is the principal gas contribute to green house effect ?

I. methane (CH4)

II. Nitrous Oxide (N2O)

III. Carbon dioxide (CO2)

IV. Ozone (O3)

A) Only I B) Only III and IV C) Only III d) All the above

33. Which part of the brain controls basic functions such as breathing and heart rate ?

A) Cerebellum   B) Cerebrum 

C) medulla oblongata   d) Hypothalamus

34. Which Vitamin is necessary for the synthesis of collagen, a protein important for skin, 
bones and connective tissue ?

A) Vitamin – A   B) Vitamin – C

C) Vitamin – E   d) Vitamin – K

35. Which of the following disease is/are not caused by a virus ?

i. Influenza

ii. Tuberculosis

iii. measles

iv. dengue fever

A) Only ii   B) Only ii and iii 

C) Only i and ii   d) Only i and iv 

36. What is the primary cause of Chronic Obstructive Pulmonary disease (COPd) ?

A) Bacterial infection   B) Viral infection

C) High altitude   d) Smoking

37. Which initiative is aimed at addressing postpartum depression among mothers of 
Kerala ?

A) Bhoomika   B) AAWAZ Scheme 

C) Healthy Kids  d) Amma manasu
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32. fLRu krpOÐvp]¤ JfLeV NY}¢ zTyV NknLv¾]jV WLqeoLWOÐ NkiLj vLfWU ?

I. o}RgpV¢ (CH4)

II. RRjNayV KLWVRRycV (N2O)

III. WL¡m¦ RRc KLWVRRycV  (CO2)

IV. KLSyL¦ (O3)

A) Only I B) Only III and IV C) Only III d) All the above

33. w~yjU, zQhpo]a]ÕV fOa°]p Aa]òLj Nkv¡¾j°Rt j]pNÍ]¨OÐ fsSÞÿLr]R£ 
nLYU JfLeV ?

A) Ryr}RmsæU  B) Ryr]NmU 

C) RocOsæ KSmæLSYã  d) RRzSÕLfsLoyV

34. f~ V̈, Aò]W¥, mÌ]f WsW¥ IÐ]vàV NkiLjoLp KqO SNkLŸ}jLp RWLtL^R£ yoj~p 
¾]jV Bvw|oLp v]ãLo]¢ JfLeV ?

A) v]ãLo]¢ – A  B) v]ãLo]¢ – C

C) v]ãLo]¢ – E  d) v]ãLo]¢ – K

35. fLRu krpOÐvp]¤ JfLeV RRvryV oPsoOºLWL¾fV ?

i. C¢læP¢yL

ii. a|Pm¡W|PSsLy]yV

iii. o}y]¤yV

iv. RcË] kj]

A) Only ii   B) Only ii and iii 

C) Only i and ii   d) Only i and iv 

36. SNWLe]WV KmVNy›WVã}vV k¥oer] c]y}yV (COPd) pORa NkLgo]W WLqeU IÍLeV ?

A) mLW›}q]p AeOmLi   B) RRvr¤ AeOmLi

C) Dp¡Ð òLjU   d) kOWvs]

37. SWqt¾]Rs AÚoLq]¤ WLeRÕaOÐ NkyvLjÍq v]xLhU kq]zq]¨L¢ sƒ|o]ŸOç 
yUqUnU JfV ?

A) nPo]W  B) BvLyV Ø}U 

C) Rz¤¾] W]cVyV  d) AÚ ojôV
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38. A travelling wave is sent along a string by oscillating one of its ends. If the frequency 
of oscillation is increased then the 

A) Speed of the wave remains constant but wavelength increases

   B) Speed of the wave remains constant but wavelength decreases

C) Speed and wavelength of the wave remain the same

d) Speed of the wave increases but wavelength decreases

39. If ve is the escape velocity of an object from the surface of the Earth, then what is 
the escape velocity of that object from the surface of a planet which is four times as 
massive as Earth and has the same radius ?

A) 2ve B) 4ve C) 2ve
d) ve

40. Which of the following is not a characteristic of the photoelectric effect ?

A) There is no time interval between the arrival of light at metal surface and the emission 
of photoelectrons

B) The kinetic energy of ejected electrons is proportional to the intensity of incident 
light

C) The number of electrons ejected is proportional to the intensity of incident light

d) Every photosensitive material has a minimum cutoff frequency of incident radiation, 
known as the threshold frequency

41. Name the satellite launched by ISRO in its 100th mission using GSlV-f 15 launching 
Vehicle on 29 January 2025.

A) NVS-02 B) Proba-3 C) EOS-08 d) dS-SAR

42. The huge amount of energy formed in the sun and stars by nuclear fusion reaction. 
The gas formed by the nuclear fusion reaction in sun is

A) Hydrogen   B) Xenon

C) Neon   d) Helium

43. The chemical name of Baking soda and Washing soda are respectively

A) Sodium carbonate and Sodium bicarbonate

B) Sodium bicarbonate and Sodium carbonate

C) Sodium bicarbonate and Calcium carbonate

d) Sodium carbonate and Calcium carbonate

44.  Which one of the following compound is not a mineral of iron ?

A) Haematite B) magnetite C) malachite d) Siderite
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38. KqO Þqa]R£ Aã°t]RsLÐV BSÎLtjU RÞpÅORWLºV KqO yµq]¨OÐ fqUYR¾ 
Af]sPRa ApàOÐO. BSÎLtj¾]R£ BvQ¾] v¡È]Õ]¨OWpLReË]¤   

A) fqUY¾]R£ SvYf oLão]sæLRf fOaqOWpOU fqUYRRh¡Z|U WPaOWpOU RÞáOÐO   

   B) fqUY¾]R£ SvYf oLão]sæLRf fOaqOWpOU fqUYRRh¡Z|U WOrpOWpOU RÞáOÐO

C) fqUY¾]R£ SvYfpOU fqUYRRh¡Z|vOU KSqSkLRs fOaqOÐO 

d) fqUY¾]R£ SvYf WPaOWpOU fqUYRRh¡Z|U WOrpOWpOU RÞáOÐO

39. nPo]pORa Dkq]fs¾]¤ j]ÐOç KqO vñOv]R£ kspLj NkSvYoLeV ve IË]¤, nPo]
pORa jLs]qŸ] k]¼oOçfOU ASf BqU DçfOoLp KqO NYz¾]R£ Dkq]fs¾]¤ 

 j]ÐOç B vñOv]R£ ksLpj NkSvYU INfpLeV ?

A) 2ve B) 4ve C) 2ve d) ve

40. fLRu krpOÐvp]¤ JfLeV SlLSŸLCsNW›]WV NknLv¾]R£ yv]SwxfpsæL¾fV ?

A) SsLz Nkfs¾]¤ NkWLwU I¾OÐfOU SlLSŸLCsSNW›LeOWtORa DÃ¡^jU   
yUnv]¨OÐfOU fÚ]¤ yop CaSvtp]sæ

B) DÃ¡^]¨RÕaOÐ CsSNW›LeOWtORa Yf]SWL¡²U kfjv]W]qe¾]R£ f}NvfàV 
BjOkLf]WoLeV

C) DÃ¡^]¨RÕaOÐ CsSNW›LeOWtORa I¹U kfjv]W]qe¾]R£ f}NvfàV BjOkLf] 
WoLeV

d) KLSqL NkWLwyUSvhj kLhL¡À¾]jOU RNfSxL¥cV BvQ¾] IÐr]pRÕaOÐ  
kfjv]W]qe¾]R£ KqO o]j]oU v]SMhj BvQ¾] DºV   

41. 2025 ^jOvq] 29--&jV GSlV-f 15 SsLµ]UYV Rvz]¨]¥ DkSpLY]ÞÿV ISRO Af]R£  
jPrLoR¾ hTf|¾]¤ v]Sƒk]Þÿ DkNYz¾]R£ SkqV IÍLeV ? 

A) NVS-02 B) Proba-3 C) EOS-08 d) dS-SAR

42. j|PWæ]p¡ l|Px¢ Nkf]Nkv¡¾jU vu] yPq|j]sOU jƒNf°t]sOU qPkRÕaOÐ 
  n}ooLp DT¡²¾]R£ AtvV yPq|j]¤ ja¨OÐ j|PWæ]p¡ l|Px¢ Nkf]Nkv¡¾jU  

vu] qPkRÕaOÐ vLfWU

A) RRzNc^¢   B) RySjL¦

C) j]SpL¦  d) z}s]pU

43. Sm¨]UYV SyLcpORapOU vLx]UYV SyLcpORapOU qLyjLoU pgLNWoU

A) SyLc]pU WL¡mSeãOU SyLc]pU RRmWL¡mSeãOU

B) SyLc]pU RRmWL¡mSeãOU SyLc]pU WL¡mSeãOU

C) SyLc]pU RRmWL¡mSeãOU WL¤y|U WL¡mSeãOU

d) SyLc]pU WL¡mSeãOU WL¤y|U WL¡mSeãOU

44.  fLRu krpOÐvp]¤ CqOÒ]R£ iLfO AsæL¾ yUpO©U JfLeV ?

A) SzoRRããV B) oLR®RRããV C) osÞÿpVãV d) y]RcRRrãV
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45.  Which among the following is the correct set of most abundant metal and non-metal 
in human body ?

A) Calcium and Oxygen   B) Calcium and Phosphorous

C) Iron and Phosphorous  d) Calcium and Carbon

46. Which of the following statements are correct about Olympics medals won by India ?

i. Field Hockey was the first Olympic sport in which India won a gold medal. 
ii. In 1928 India won its first Olympic gold medal. 
iii. Abhinav Bindra won the first individual of Olympic gold medal for independent India 

at the london Olympics in 2012. 
iv. Karnam Malleswari was the first Indian woman won a bronze medal in the 2000 

Sydney Olympics.
A) Only i, ii and iii   B) Only i, ii and iv 

C) Only i, iii and iv   d) All of the above

47. match the following writers with their pen names.

a. George Varghese i. Premji

b. m. P. Bhattathiripad ii. Vilasini

c. P. C. Kuttikrishnan iii. Kakkanadan

d. m. K. menon iv. urub

A) a – iv, b – iii, c – ii, d – i B) a – ii, b – i, c – iv, d – iii 

C) a – iii, b – i, c – iv, d – ii d) a – i, b – iv, c – ii, d – iii

48. Which of the following statements are incorrect about cultural centres in Kerala ?

i. Kerala Kalamandalam was formed in 1920.

ii. N. V. Krishna Warrier was the first director of Kerala Bhasha Institute.

iii. Kerala Sahitya Academy was officially inaugurated on 15 October 1956.

iv. Kerala Sastra Sahitya Parishad was founded on 10th October 1965.

A) Only i and ii B) Only ii and iii C) Only iii and iv d) Only iv and i

49. Which of the following art form is performed to appease the Goddess Bhadrakali ? 

A) mohiniyattam B) Thiraiyattam C) Padayani d) Poorakkali

50. Which city hosted the Artificial Intelligence Safety Summit in February 2025 ? 

A) Paris   B) San francisco

C) london   d) delhi
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45. ojOx|wq}q¾]¤ JãvOU WPaOfsOç SsLz¾]R£pOU ASsLz¾]R£pOU wq]pLp 
RyãV fLRu krpOÐvp]¤ JfLeV ?

A) WL¤y|vOU KLWõ]^jOU B)  WL¤y|vOU SlLyVlryOU

C) ApeOU SlLyVlryOU d) WL¤y|vOU WL¡meOU

46. CÍ| Sja]p Kt]Ò]WõV RocsOWRt¨Or]ÞÿOç Cj]ÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?

i. CÍ| y~¡¹ Roc¤ Sja]p Bh| Kt]Ò]WõV WLp]W CjoLeV l}¤cVSzL¨].   

ii. 1928&¤ CÍ| Bh|R¾ Kt]Ò]WõV y~¡¹Roc¤ Sja].   

iii. 2012&Rs sº¢ Kt]Ò]Wõ]¤ y~fNÍ CÍ|àOSvº] v|©]Yf y~¡¹Roc¤Sja]p Bh|  
v|©]pLeV An]jvVm]NÎ.  

iv. 2000&Rs y]cÔ] Kt]Ò]Wõ]¤ RvËs Roc¤ Sja]p Bh| CÍ|¢ vj]fpLp]qOÐO 
 W¡eU oSsæw~q].

A) Only i, ii and iii   B) Only i, ii and iv 

C) Only i, iii and iv   d) oOWt]¤ krîvRpsæLU 

47. fLRuÕrpOÐ IuO¾OWLRq AvqORa fPs]WLjLovOoLp] K¾OSjL¨OW.

a. S^L¡^V v¡Y}yV  i. SNkU^] 

b. IU. k]. nŸf]q]ÕLaV   ii. v]sLy]j]

c. k]. y]. WOŸ]WQxVe¢ iii. WL¨jLa¢ 

d. IU. RW. SoSjL¢  iv. DrPmV

A) a – iv, b – iii, c – ii, d – i B) a – ii, b – i, c – iv, d – iii 

C) a – iii, b – i, c – iv, d – ii d) a – i, b – iv, c – ii, d – iii

48. SWqt¾]Rs yLUØLq]W SWNÎ°Rt¨Or]ÞÿOç fLRu krpOÐ NkñLvjWt]¤ JfLeV 
RfãV ? 

i. 1920&¤ SWqt WsLo¼sU qPk}WQfoLp]. 

ii. SWqt nLxL C¢ð]ã|PŸ]R£ Bh| cprW›¡ I¢. v]. WQxVevLq]p¡ Bp]qOÐO.

iii. 1956 KWVSaLm¡ 15&jV SWqt yLz]f| A¨Lho] KTSh|LY]WoLp] DfVZLajU RÞpÅO. 

iv. SWqt wLNñ yLz]f| kq]x¾V 1965 KWVSaLm¡ 10 jV òLk]foLp]. 

A) Only i and ii B) Only ii and iii C) Only iii and iv d) Only iv and i

49. fLRu krpOÐvp]¤ nNhWLt] Shv]Rp Nk}f]RÕaO¾OÐf]jLp] Avfq]Õ]¨OÐ 
WsLqPkU JfLeV ? 

A) SoLz]j]pLŸU  B) f]qpLŸU  C) kape]  d) kPq¨t] 

50. 2025 RlNmOvq]p]¤ B¡Ÿ]l]x|¤ C£s]^¢yV yOqƒL DÞÿSWLa] jaÐ jYqU 
 JfLeV ?  

A) kLq}yV   B) yL¢NlL¢y]yVSWL 
C) sº¢   d) c¤z] 
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 51. divide 981 in the ratio 5 : 4.
 A) 535 : 446 B) 545 : 436 C) 540 : 441 d) 445 : 536

 52. The percentage profit earned by selling an article for Rs. 1,920 is equal to the 
percentage loss incurred by selling the same article for Rs. 1,280. At what price 
should the article be sold to make 25% profit ?

 A) Rs. 2,000 B) Rs. 2,200 C) Rs. 2,400 d) Rs. 2,600

 53. A can do a piece of work in 4 hours, B and C together can do it in 3 hours, while  
A and C together can do it in 2 hours. How long will B alone take to do it ?

 A) 8 hours B) 10 hours C) 12 hours d) 24 hours

 54. A car traveling at a speed of 80 km/h can complete a journey in 9 hours. How long 
will it take to travel the same distance at 60 km/h ? 

 A) 10 hours B) 8 hours C) 16 hours d) 12 hours

 55. If in a certain code language, RAIl is written as KCTN, how will REAd be written in 
this code language ? 

 A) CGTf B) fTCG C) CTGf d) CffT

 56.  K is the son of m. l is the wife of K. J is the son of l. P is married to m. How is J 
related to m ?

 A) father   B) Son’s son

 C) Husband   d) Son

 57. A man walks 5 km towards south and then turns to the right. After walking 3 km he 
turns to the left and walks 5 km. Now in which direction is he from the starting place ?

 A) West B) South C) North-East d) South-West

 58. Simplify 
1
2

1
3

1
4

2 2 2






 + 






 + 








− − −

 .

 A) 
13
12

 B) 
3
9

 C) 29 d) 12

 59. Calculate 
2 39 1 61

2 39 1 61

2 2
. .

. .

( ) − ( )
−

. 

 A) 2 B) 4 C) 6 d) 8

 60.  What will be the next number in the sequence 36, 34, 30, 28, 24,...
 A) 20 B) 22 C) 23 d) 26
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 51. 981&Rj  5 : 4 IÐ AjOkLf¾]¤ v]n^]¨OW.  

 A) 535 : 446 B) 545 : 436 C) 540 : 441 d) 445 : 536

 52. KqO vñO 1,920 qPkàV v]¤¨OÐf]sPRa sn]¨OÐ sLnwfoLjU, ASf vñO 1,280 qPkàV 
v]¤¨OÐf]sPRa DºLWOÐ jì wfoLj¾]jV fOs|oLeV. 25% sLnU sn]¨L¢ NkñOf 
vñO INf v]sàV v]¤¨eU ?

 A) Rs. 2,000 B) Rs. 2,200 C) Rs. 2,400 d) Rs. 2,600

 53. KqO S^Ls] ‘A’ 4 oe]¨P¡ RWLºOU, ‘B’ pOU ‘C’ pOU KqOo]ÞÿV 3 oe]¨P¡ RWLºOU, ‘A’ pOU 
‘C’ pOU KqOo]ÞÿV 2 oe]¨P¡ RWLºOU RÞpÅO f}¡¨OU. A°RjRpË]¤, ‘B’ oLNfU B S^Ls] 
INf yopU RWLºV RÞáOU ? 

 A) 8 oe]¨P¡  B) 10 oe]¨P¡ C) 12 oe]¨P¡ d) 24 oe]¨P¡

 54. 80 km/h SvYfp]¤ yµq]¨OÐ KqO WLr]jV 9 oe]¨P¡ RWLºV KqO pLNf kP¡¾]
pL¨L¢ yLi]¨OU. 60 km/h SvYfp]¤ yµq]¨Sv, ASf hPqU kP¡¾]pL¨L¢ INf 
yopRoaO¨OU ? 

 A) 10 oe]¨P¡ B) 8 oe]¨P¡ C) 16 oe]¨P¡ d) 12 oe]¨P¡

 55. KqO NkSf|W SWLcV nLxp]¤ RAIl IÐfV KCTN IÐLeV IuOf]p]q]¨OÐRfË]¤, CT 
SWLcV nLxp]¤ REAd I°RjpLeV IuOfRÕaOW ? 

 A) CGTf B) fTCG C) CTGf d) CffT

 56. ‘m’&R£ oWjLeV ‘K’. ‘K’&pORa nLq|pLeV ‘l’. ‘l’&R£ oWjLeV ‘J’. ‘m’&Rj v]vLzU 
  Wu]ÞÿfV ‘P’. A°RjRpË]¤, ‘J’ àV ‘m’&oLp] Dç mÌRoÍV ?

 A) A±¢    B) oWR£ oW¢ 

 C) n¡¾LvV    d) oW¢

 57. KqL¥ RfS¨LŸV 5 km jaÐV vsS¾¨V f]q]pOÐO. 3 km jaÐSwxU ApL¥ CaS¾¨V 

  f]q]îV  5 km ja¨OÐO. CSÕL¥ ApL¥ BqUnòLj¾V j]ÐV JfV h]wp]sLeV ? 

 A) ka]îLrV  B) Rf¨V  C) va¨V&W]u¨V  d) Rf¨V&ka]îLrV 

 58. sZPWq]¨OW 
1
2

1
3

1
4

2 2 2






 + 






 + 








− − −

. 

 A) 
13
12

 B) 
3
9

 C) 29 d) 12

 59. D¾qU WºOk]a]¨OW 
2 39 1 61

2 39 1 61

2 2
. .

. .

( ) − ( )
−

. 

 A) 2 B) 4 C) 6 d) 8

 60.  36, 34, 30, 28, 24,... IÐ} Sèe]p]Rs AaO¾ yUX| IÍLp]q]¨OU ?

 A) 20 B) 22 C) 23 d) 26
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 61. Identify the error in the following sentence.
  One of the girls are from mumbai. 
 A) girls B) are C) the  d) from

 62. Complete the sentence using the appropriate tag.
  don’t come in front of me, ____ ?
 A) Can you B) Shall you C) Would you d) Will you

 63. Identify the type of the verb in italics in the following sentence.
  you let her go

 A) Bare infinitive   B) Gerund

 C) To infinitive   D) Present participle

 64. Correct the following sentence by choosing the right option.
  Neither the Principal nor the teachers is going for the tour.

 A) Will going B) Goes C) Are going d) Has gone

 65. Seeing a snake in the garden lalu screamed for help. This sentence may be 
transformed as

 A) lalu saw a snake in the garden when he screamed for help
 B) He screamed for help and saw a snake
 C) lalu was screaming for help when seeing a snake in the garden
 d) When he saw a snake in the garden lalu screamed for help 

 66. The italicized word in the following sentence means
  As a teacher, she resented invidious remarks made on her students by her 

colleagues.  
 A) Personal B) Cruel C) Sarcastic d) unpleasant

 67. The idiom in the following sentence means
   Perfumes were dime a dozen for him in those days. 
 A) Rarity   B) Plenty and common 
 C) Precious and valuable  d) Expensive

 68. I bank on your word. The phrasal verb in italics means
 A) Spends on something or someone
 B) Collects money from someone 
 C) Bases one’s hope on something or someone
 d) Spreads something 

 69. Correct the following sentence.
  The affects of Covid 19 are far reaching. 
 A) The effects of covid 19 is far reaching. B) The effects of covid 19 are far reaching.
 C) The affect of covid 19 is far reaching. d) The affects of covid 19 is far reaching.

 70. His behavior at the party was atrocious. The synonym for the italicized word is

 A) Attractive B) Appalling C) Supportive d) Compassionate
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71. wq]pLp khU f]qRîaO¨OW.
A) JWWeVSb|j  B) RIW|WSeVbj
C) RIW|WeVSb|j   d) RIWWeVSb|j

72. wq]pLp vLW|U f]qRîaO¨OW.
A) yLoOhLp]WvOU yLUØLq]WvOoLp CaRkasOW¥   
B) yLoOhLp]WkqvOU yLUØLq]WkqvOoLp CaRkasOW¥ 
C) yLoOhLp]WkqvOU yLUØLq]WvOoLp CaRkasOW¥   
d) yoOhLpkqvOU yLUØLq]WkqvOoLp CaRkasOW¥

73. fLRuÕrpOÐvp]¤ wq]pLpv f]qRîaO¨OW. 
i. k]kLy – RvçU WOa]¨LjOç BNYzU   
ii. NkvLyU – v}aV v]aLjOç BNYzU 
iii. ^]³Ly – Ar]pLjOç BNYzU   
iv. v|LvzLq]WU – v|vzLq¾]jOç BNYzU
A) i, iii oLNfU   B) ii, iii oLNfU
C) iii, iv oLNfU   d) iii oLNfU

74. fLRuÕrpOÐvp]¤ ^s¾]R£ kq|LposæL¾SffV ?
A) DhWU B) ys]sU C) y]ÌO d) vLq]

75. State of the art IÐ NkSpLY¾]R£ A¡gU 
A) WsLkqoLp Wu]vOç  B) JãvOU BiOj]WoLp 
C) Af]w©oLp   d) JãvOU WsLSoÓpOç

76. "vµ] CSÕLuOU f]qOj¨Rq¾RÐ' IÐ RRws]RWLºV A¡goL¨OÐRfÍV ? 
A) WLsv¡xR¨aOf]   B) kOSqLYf] CsæLpÜ 
C) Nkv¡¾]¨LjOç oa]   d) fR£ nLY¾LeV v]^pU

77. v]h|O±©] IÐ khU k]q]RÞÿuOfOÐRf°Rj ?
A) v]h|OfV + w©]   B) RRvh|Of] + w©]
C) v]h|O¾V + M©]  d) v]h|OÞV + M©]

78. IsæL kh°tOU wq]pLp YeU f]qRîaO¨OW. 
A) AjONYz}f¢, Y}fSYLv]ÎU, pLhQ±]WU, Bi|ƒ|f 
B) AjOYQz}f¢, Y}fLSYLv]ÎU, pLhQé]WU, Bi|ƒ|U 
C) AjOYQz}f¢, Y}fSYLv]ÎU, pLhQ±]WU, Bi|ƒ|U   
d) AjONYz}f¢, Y}fLSYLv]ÎU, pLhQ±]WU, Ai|ƒ|U

79. BYojU IÐ kh¾]R£ v]kq}fU JfV ?
A) j]YojU B) j]¡YojU C) mz]¡YojU d) YojU

80. NknO IÐ kh¾]R£ Nñ}s]UY qPkU

A) NknQf] B) Nkn C) NknLvf] d) Nkn~] 
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 81. Which of the following memories in a computer is faster ? 

 A) RAm  

 B) ROm

 C) magnetic Storage device

 d) Internal Process memory

 82. Which of the following is a key benefit of using OCR (Optical Character Recognition) in 

document processing ?

 A) It can automatically detect and count multiple-choice answers on a form

 B) It enables machines to read and convert printed or handwritten text into editable 

digital format

 C) It uses magnetic ink to recognize bank account numbers on checks

 d) It allows for the automatic reading of QR codes for storing web links

 83. Which of the following is the most likely application of a supercomputer ?

 A) managing personal emails and web browsing

 B) Controlling embedded systems in consumer electronics like smartphones

 C) Running large-scale simulations for scientific research, such as weather forecasting 

or particle physics

 D) Performing word processing and creating presentations for office work

 84. ____________ translates the messages of the software and hardware into a common 

compatible form to make them communicate successfully.

 A) Programming software  B) Application software

 C) System software   d) Administrative software

 85. What is the octal number for the decimal number 2025 ?

 A) 3751   B) 1573

 C) 1753   d) 1357 
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86. Which of the following keyboard shortcuts in microsoft Word 2021 allows you to 

toggle the visibility of non-printing characters (such as spaces, paragraph marks, 

and tab symbols) ? 

A) Ctrl + Shift + 8 B) Alt + f1 C) Ctrl + Alt + P d) Shift + f12

87. Which of the following options is not found under the Insert menu in microsoft 

Word ?

A) Table B) Header C) Shape d) Styles

88. What does the VlOOKuP function in Excel do ?

A) It searches for a value in a range and sums all values in the row that match

B) It calculates the average of values that meet a certain condition 

C) It searches for a value in a table and returns a corresponding value from the  

same row

d) It combines multiple values from different cells into one cell 

89. Which keyboard shortcut in Excel is used to quickly insert a new worksheet in the 

current workbook ? 

A) Ctrl + Shift + N 

B) Shift + f11

C) Alt + W + N 

d) Ctrl + Alt + W

90. Which of the following actions is not performed through the Insert tab in PowerPoint ?

A) Insert a table   

B) Insert an image from a file

C) Insert a new slide layout 

d) Insert a hyperlink
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 91. What is an abstract class in OOP ? 

A) A class that does not have any constructors  

B) A class that can only have static methods

C) A class that cannot be instantiated and is designed to be subclassed

d) A class that contains only concrete methods

92. What is the significance of using int as the return type of the main() function  ?

A) It indicates that the program outputs an integer to the console

B) It ensures compatibility with the operating system’s expectations

C) It is a placeholder and can be replaced with float or void

D) It specifies the program’s execution speed

93. What is a common characteristic of event-driven programming ?

A) It executes code in a sequential manner

B) It waits for user actions or events to execute code

C) It cannot handle multiple events simultaneously

d) It does not use graphical user interfaces

94. What is the purpose of the Imports statement in VB.NET ?

A) To include namespaces 

B) To import external libraries dynamically

C) To declare variables globally

D) To define methods in a class

95. Which of the following are advantages of dBmS ?

A) Reduced data redundancy 

B) Improved data security

C) Easier data access and sharing

d) All of these 
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96. What is the difference between dElETE and TRuNCATE in SQl ?  

A) DELETE removes all rows, while TRUNCATE removes specific rows

B) TRuNCATE removes all rows and cannot be rolled back, while dElETE can be 

rolled back

C) dElETE is faster than TRuNCATE

d) None of these

97. Which SQl command is used to remove a table from the database ?

A) dROP TABlE   B) dElETE TABlE 

C) TRuNCATE TABlE   d) REmOVE TABlE

98. What is the role of CSS in web development ?

A) To create interactive web pages

B) To define the layout and style of a web page 

C) To manage the content of a website

d) To enhance the security of a website 

99. Which HTml tag is used to display an image ? 

A) <img>   B) <image>

C) <src>   d) <picture>

100. Which looping statement is guaranteed to execute atleast once in JavaScript ?

A) for   B) while

C) do...while   d) None of these
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S\Lh|°tORa BRW I¹U : 100 yopU : 90 o]j]ŸV 

  kqoLvi] oL¡¨V  : 100

a

         DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. a, B, c, d IÐ} jLsV Aƒq SWLcOWt]sOç 
S\Lh| kOñW°tLeV j¤WOÐfV.

2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]̂ ]ŸOºV.

3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥ V̈ sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] vL°OW.

6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj] V̈ sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU NWooLp] 
DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, v]ŸOSkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 60 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU)
Bp] A\ÿa]\ÿ]q]¨OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV 
oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV.

9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 
D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]pO¾qU 
yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
 R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]̂ ]SsãRr J¤Õ]̈ LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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